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 Autograph Activity

Introducing the Product Rule


	You should by now know that, provided you work in Radians, the gradient graph of y= sinx is given by dy/dx = cosx. The Product Rule allows you to find the graph of a product of two functions such as y = xsinx.

	
	

	First consider the graph of y = xsinx, shown opposite.  


[image: image2.wmf] From your knowledge of positive/negative gradients and turning points, ‘sketch’ the shape of the ‘gradient graph’ – either on the same sketch or a copy on graph paper.
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	One of the functions given opposite is the gradient function of y = xsinx. Before using Autograph to confirm which, try justifying your choice by considering specific values (e.g. x = 0, π/2, π etc.)
Once you have convinced yourself which you think is the correct function try this . . . 
	(i)  cosx + xsinx
(ii)  sinx + xcosx

(iii)  sinx − xcosx

(iv)  cosx − xsinx
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 Open a new Graph Page and [image: image5.png]


 Enter Equation y = xsinx
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 Choose ‘Slow Plot’ and [image: image7.png]


 then add the Gradient Graph
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 Also use Slow Plot to add each of the functions (i) to (iv) given above. 
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to confirm your observations where u = x and v = sinx.  
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